oO0O0ooogd g30

1.3 O0Oooooood

P — @ 00000
oooo oooo

P —QUD0000000ODOOQU PODODOODO)OOOO
O (necessary condition) 000000000 PO QODO0OO0DO)O
0000 (sufficient condition) 0 0 00O

P—=Q0Q — PO00OOOOO0POQOOOODDD
0000000000 00000 PO QODOOOOOO (sufficient
and necessary condition) 0 0000000000 QO pPOOOO
goooooo

P —QO000000Q — POOOODOOOOPOQOIDD
O0o0oboo0obooooboobooboo U POOODDO
goodooooobobood

P —Q0Q — PO0OOOODOODD POQOODDD
00000000000 DLO00DLO0 QO PODOOODODOODODO
goooooo

gododdoddouoouoouoouoouuooooo
gododoooooodoooooooooooonoooonog
goooodgo
P =Q«+<R

O00000000PROODDOOODOOOOQOOOOOO (OO
O001=10)00000P = QU0R == QQUOOOUOODODOO
O0QDh pPOOOOODOODOOROQOOODOODOODOROP
gbobooboboobobopPO ROODDOODODOODO
goboboooobbooood

P—Q = R
0000000000000 QODOO00OoDooo (Dooo1+#

10)00000oooo

gbbouugobooobooobobooobboooboo
godugooouoobobiboooouobuoobobbodoo
godg

00000, y0000MM 24000 y#000 (z,y) # (0,0)
000000 |[000000000000000000 |
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X0OOz=000YOOy=000Z00(z,y) =(0,0000000
PO0z#000y#£0000000PO00-XA-YOOOOOO
QO0(z,y)#(0,0000000 QOO0~-Z000000000

(x,y) =(0,0) <= (r=0Ay=0) o000
Z — XANY

gbboobobuodgbbbodgbuoobbuodgboobbooboo
goo

X[y[-x[-v|P=-XAY][Z]Q=-2]P =0 —
T[T F | F F T F T T
T|F| F | T F F T T F
F|T| T|F F F T T F
FIF| T |T T F T T T

oobooob0 P =QU00000DL0Q =PO0OODOO
000000000 POQUDODODODODODODOD
goboboobooogn

O000 111 00000 XOYOO 1)ooooooo2)o
Ooo0oO0o0oOoOooOOoOOOOOOOO3)ODOOOOODODODODOO
00000004 000000000000000O00DO0O0DOOO
goboboooobbbz,y0000o0oon

() X:22=1, Y:z=1

(2) X:2zy>0, Y:z>000y>0

(3) X:2zy>0, Y:z>000O0y>0

(4) X:2zy=0, YV:z=000Oy=0

(5) X:2y=0, Y:z2=0000y=0
6)X:2=10000000y=1, Y:ay=1

(7)) X:z2=0000000y=0000, Y:zy=0000O
8) X:zy=00Oy=z+1, V:z=000Oy=1

(9) X:22+2r-1=0002>0, YV:o=-1++2

gbouogbooboobbooboobuoobuoobooboo
0000000000 2000000000WO00000000
gbbodgoboooboobboobbuaboboooboo
gobobobooooobbbooooboboboooon

{y(1—2x2—y2) =0

z(l—2*—-3y*) =0

0000000000 x B =0000000000 =200

WOooooooI1oooo
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O0p=0000000000000000O0DODODODOODO
axf=00000000000a=0000p=0000000
g

y(1—-222—y?) =0 <<= y=0V 1—-222—-9>=0
r(l—2*-3y) =0 <+<= =0V 1—-22-32=0
goooood

y=0000000YO1-2:2—¢2=0000000 AOxz=0
000000 XO01-22-32=0000000 BOOOO

YVAANXVB) = (YVAANX)V((YVA)AB)
= YAX)V(AANX)V (Y AB)V(AAB)

gobooogd

y(1—222 —9?) =0 A x(1 —2® - 3y?) =0 —
(y=0Az=0) vV 1-222 -y =0A2=0)V
(y=0A1—22-3y>=0) V (1-222—y?> = 0A1—22—3y?> = 0)

000 YAXOAAXOYABOAABO 40000000000
00000000

D00 YAXOOOOOOOOOOOOOOOO 2z =000
y=000000 (z,y) = (0,000000

00 AAXODOODOOOOOOOO AO1—222—42 =0
0XO0z=00000002z=001-222—32=00000
000y =10000000y=1000y=-1000000
00000 (2,y) = (0,1)000 (z,y) = (0,—1)0000000
(z,y)=(0,+1)000000000

00 YABODOOOOOOOOOOOy=0001—22—3y2=0
00000000y=001-22-3y*=0000000022=10
0000002z=10002=-100000000000 (z,y) =
(£1,000000

000 AABOODOOOOOO1-222—y2 =000 1—22—3y% =0
00000000AOO0BOOOO —22+22=00000000

1 1
BOOODOOOO1-52=00000y=-—000y=———

NG V5
V2
000000000000 BOOODOOOz=+—~-000000

V5

2 1
DQ@@:(i%%jiE>(DDDDDDD)DDDDDDDDD
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goobooon

5%
sl

(z,y) = (0,0),(0,%1), (£1,0), (j: , £ )
goog

0000000000000 O0(x,yyD0ODOODOO
y(1 —22% —y?) =0, z(1—2*-3y*) =0
gugoooooooboboood

(z,y) = (0,0),(0,£1), (£1,0), <j:%, i%)

ooo ®o

0000000000000 0000000000oooooQ
0000000000000 0000000000o00oooooon
000000000000 000000000000o0oooon
ooooooooo

gobob 1112 dOobobhoooobobboooobobood
Uoobo0 Xy =00bOoboobooooooooooooboo

gobobogobooboolioogooboooobobuooobboo

0000ob0boooobobbuoo11oobobobogo

() 2(2®+92) =000 y(2®+y*—1) =0

(2) 622 +y*+ 102 =000 a2y +y =0

(3) 322 +2y* —6x =000 2zy+y =0

A r+y+203=0002+y+2y>=0

B)a?—y=000¢y*—2=0

6) (x> +3y*—1) =000 y(322+3y*—1)=0

(M2’ —z+y=000y +a—y=0

(8) (y—20%)27"" " =000 (v — 229727 =0

(9) sinz (cosysin(z +y) +sinycos(x +y)) =000
siny (coszsin(z + y) + sina cos(x +y)) =0

(poU00000000000000000D0000000000000On
goboobobooooooboooboobooboobobooooboooooao
gboobodgbobooboboboooooboboobobobooooboa
gobooobooooboooboooboboboooboooboboooobooooboaon
gboboobooaobooboobooboobbooboaoboobooogan
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